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1. Which s greater of 48 23 and 36 35

*J

Express 1359/1000 as decimal

3 Add 1644 8 524 and 26

4 Find the value of 108 032-88 §

S By how much 34 9 should be Increasedtoget 70 9
& Simpity359.1609+882-506

Find the product of - 325 x |
8 Multiply 0 345 by 00237

3. Find the area of a rectangle whose lengthisS S mand breadthis 34 m
10.One kg of nce cost Rs 42 65 What wll be the cost of 15 kg of rice

11 Divige 128 9/100

12 Divage 93 45426

13 Deage 48 08400

14 The cost of 24 pens Is rs 2986 80, Find the cost of ane pen

15 The proguct of two decimals is 1 8576 If one of decimals 18 54 Find e other
16 Proouct of two gecimal I1s 42 987 _if ane of them is 12 46 find tha othay

17 A car covers a gestance of B9.1 km in 2 2 hours. What is the average distance covered
by £ in one hout

18 Each sige of a reguiar palygon i1s 2.5 cm in length. The perimetar of the polygon 1s 12 £
cm HMow many sides does the palvgon have?
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ExERcCISE 4.2

. Give first the step you will use to separate the variable and then solve the equation:

(@Qx-1=0 (b) x+1=0 (¢) x—1=3 (d) x+6=2
(e)v—-4=-17 ) y—-4=4 (g) v+4=4 th) v+4 =-4
. Give first the step you will use to separate the vanable and then solve the equation:
)
(a) 3/ =42 (b) 3 =6 (c) ";;*:4 (d) 4x=25
) By = 36 (f) .2 =L (h) 20 10
(e)by=: 3 4 ® 5515 .
. Give the steps you will use to separate the variable and then solve the equation:
20p 3
(a) In—-2=46 (b) Sm+7T7=17 (¢) sz4ﬂ (d) £=ﬁ
. Solve the tollowing equations:
P =P
(a) 10p = 100 (b) 10p + 10 = 100 (c) I—-S (d) T=5
3p
{EJTtﬁ () Is=-9 (g) 3s+12=0 (h) 3s=0

(i) 2g=6 () 29—6=0 (k) 2g+6=0 () 2g+6=12
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Class 7
Exponents and Powers
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Answer Lhe questions
(1) Find value of Tolowng

@ -2\ 1y: 2\
(2) "‘{:) "‘(3) =7
(3) Simplily the foBowing and wiile the ahawar In axponential [orm
A Fagtastagtay’ B) .
€ PayTasl 0) yhuxtagdigt

-
) g =1 and y=5_tind the vakue of (;)

{5) Find nurber lor Tolowing expanded lorme
Al ge10? + 0x10% « On107 + 52105 « go10®

Bl Gue10" o Gu10® ¢ 26102 ¢ 1n10% ¢ Ow10"

“(3) (1) =2

(T) 229420224 1inet the value of p

Choose correct arawer(s) from given choice
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() dinnn plants 3 jeamine on har €7 birthday 1 the plant has ore Jasmine to KL with and numbes
of jasmines doublas avery weak than how many pasmnas will be thaete afler ¥ weaks 7
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